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GENERAL INSTRUCTIONS TO THE EXAMINEES : y

1) uftenedl gEwam 3o W9 UF W AW AHaEa: )
Candidates must write first his / her Roll No. on the question paper

compulsorily.
2) adt www Htad gl

All the questions are compulsory.
3)  Uee WA i IW & TG IR-YiEren ° g ford)

Write the answer to each question 1n the given answer-sheet only, LE
4T

5
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CTION -
1) wREewed g
Multiple choice questions:
1) TR A ATF T , BN @ﬁ'm%ﬁmz— (1]
" - a) st
%’1 @Eﬁ"’ 3) X, dgw
. e author of the book 'General theory of employment, interest and money’
&4 Reynes B) Ricardo
C) Adam Smith D) J.K. Mehta
ii) ) P o R - i svefvres # Rk 78 2 g [1]
A) TH q) 9Y = 9
®) I 3) wRda sl ok Rifim =9
Which of the following could not be decision maker in macro economics?
A) State

B) Reserve Bank of India

\QL Consumer
D) Securties and Exchange Board of India

iii) 3" IRUT SHUETAT g g - (1)
A) AU dh d) S ds
w) et 9w g) UEEH g%
The lender of last resort 1s called -
A) Commercial bank B) Central bank
C) Private bank D) Co-operative bank
@ﬁnﬁﬁaﬁq—ﬁuﬁamﬁgw%aﬁrﬂ?ﬁmﬁmmwﬁﬁmﬁ? [1]
) | q)
w) wuaA g) Swh Wl
Which of the following asset other than money can also act as a store of
value?
A) GOld B) Land
C) Bonds D) All of the above
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FEAd 2 ~

1 & W A o T@ A T,

! :: wha a) wEm N

g) fRfEw ?) wm o

j | ed, 1S ca " '
| ;l)le [;ﬁ ;fgmcome that is not Consg)“ Con suﬂlp!:ion propensity
) Disinvestment D) Depreciation

vi) I9ERT QiN & FE WEqUl Rufe 2 -

H) o F) I

The most important determinan

A) Saving
Household income

vii) T | -1 T T E?
H) vl R
|) I ek

t of consumption demand 1S -

B) Consumption
D) Investment

q¥) IAE W
g) dE W

Which of the following is direct tax?

A)  Wealth tax
C) Custom duty

viii) AraE T T IR E -

H) TG
q) T &R TInEd

Example of public goods is -

A) National security
C)

B) Excise tax
D) Service tax

q) uHSH
3)

ST |l

B) Roads
Government administration JB) All of the above

ix) f=adQ sa-ar 2w 3R 306 g1 & Mo TH 27

A) AGH-AA
q) fRa-«

)
2)

HRA-9aT
T T SMT-2en

e n

[1]:

[1]

(1] !
|

'S -] 0—Economics

Which of the following is an incorrect pair of country and its currency?
A) Japan - Yen B) India - Rupee
¥ Britain - Leera D) United State of America - Dollar

x) Fredash-u 2R Q gt 27 (1]
ar) famiw anféfes e d) TR FEAYS
W) SR SR 3) W AR

Which of the following is related to tariff?
A) Special Economic Zone \BJ~ Trade barrier
C) Trade subsidy D) Free trade
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xi) sreferaen § w3t vl a1 Frato g R - [1]
L H) R gW q) IUHH gR
H) SGE R 3) EEREW
All the economic activities are determined in market economy by -
) Market B) Consumer
D) Government
[1]
a) @A ke
3) T A AR
Study of various markets is related to -
A) Micro economics B) Macro economics
C) Both micro and macro D) None of the above
Xiil) =2 @ 1 At @ — [1]
EH) M:Plx2+P2x1 ) M=P1x2+P2x1
) I\f‘I‘—"l:’[J:c:IT'-sz2 1) M=Px+ szz
Equation of budget line is -
A) M=Px+P.x B) M=Px.+P,x
L) MaPxa=P.x Dy M=Px +P,x, |
xiv) = ® | =ia-w1 T i o e Rt 22 [1]
) a5 hlhmE )  IUNH B
") IuMA & HiaE q) JIqlh AWl
Which of the following is a determinant of demand for a good?
A) Price of good B) Consumer taste
C) Consumer preference Py All of these
xv) e # @ SR- O A"aer Afawaea I gl g 2 [1]
H) sitad aRadl rE @6 q) T [RR ArE =6
@) sitaa fRr anmE aw 3) Tl aREdl oA 56
Which of the following curve has rectangular hyperbola shape?
A) Average variable cost curve B) Total fixed cost curve
ey~ Average fixed cost curve D) Total variable cost curve
Xvi) @Hmmﬁaﬁigﬁvﬁaﬁﬁm%ﬂwm@m%— [1]
w) oitad A A %) T R
@) e 5 2) st for e e
Difference between total cost and total variable cost is equal to -
A) Average cost By Total ﬁxcq cost
C) Marginal cost D) Average fixed cost
$S—10-Economics [ Turn Over
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xvii) guf sfaaifiar 6 v watfies sfifda Rewa @ -

|
|

%) afai | q)  TH wH A BT TR
|) s =Y 2) ﬁmgm o G ... 18
The single most distinguishing characteristic of perfect competition g
A) Goods discrimination B) Price taking behaviour of a fxmi
C) Excess profit P~ Price rigidity :
xviii) At Wi Fen qf awh 31 qredt sk e 2l A dge fma 5 - 1
#) g Bt %) Ff g .
|) uiEfda @it 2) IWwHF TG |
[f demand and supply curves both shift to the right, the equilibrium pri
will - |
A) Increase B) Decrease |
\Cy” Remain unchanged D) Any of the above |

2) T wmEt 6 gfd Hifse
Fill in the blanks : }

1) Gal........... T QAR w1y ) [
Money is the commonly accepted as medium of - |
1) R WeT AT qAT IGGNT | Hael it SrEa Fw 2 1
- function describe the relation between consumption and income
i) g AT R fw...... . <Rl T i g [
The has been setup to ensure stability in international transactio
V) e HsTIEdT o Femean Iemen i 2 [
The closest example of a economy is the China.
V)  3TTH I AR W AN gl 2l

The excess of revenue over cost is called

—

vi) el & Fraie v aen affe @ st 2 i am v wa

Free entry and exit of the firm implies

that the market price will always
equal to '

3) sifa crgwOeHE 99

Very short answer :

i) RS AT IR IF i w v vy o 1

What was the impact of Great Depression on Europe and North America
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D AR e o 0 s v e (1]

1) WWWQWW“@?? o [1]
‘ 1at do you underst e ity to consume’
V) Frim ) w, and by marginal propensity to (1]
Explain the Investment. ° '
¥) @hmﬁmm@%&nl 2
rite the formula to calculate the out ipli
| put multipliers
V1) mﬁﬁ&mﬁwmwﬁml [1]
Clarify the meanin '
) g of annual financial document.
vi1) ﬁ%ﬁ%ﬁmmﬁwmé? 1]
What is meant by forei
gn exchange market?
VIii) aiﬁaamﬁﬁémﬁrﬁum%mn 1]
| Write any one central problem of an economy.
iX) ?ﬂmwcﬁﬁmﬁaﬂmmm%? 1]
What do you mean by marginal utility?
X) IO We 22 [1]
What is production function?
xi) ot wfteaet arm & sl @ st warEmEa) [1]
Explain the meaning of excess supply in perfect competitive market.
x11) qui ufteqat arem 22 [1]
What is perfect competitive market? .
Qus - F
SECTION - B
oY IWTcHS T34 :
Short answer questions :
4) U AR Gltael SreieTEen & Wiy 3 W@ AT qarga| 11+1=2]

According to you explain any two main features of capitalist economy.

af sqam wem C =40 + 0.75 Y @1 faw [ = 10 03 692 & @ wenfra worea win =
T B 2]

If‘ Consumpti(m function C —_— 40 + 075 Y ﬂﬂd iﬂ\"ﬂStment I — 10 Crore mpee are
given then calculate the value of expected aggregate demand.

S)
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&) w““m““m!?mm\Nl

How does the government pertorm stability work through

) madmm;mmwﬁmmimﬁhq—

Find the nussing values i the bal

yeu (fa fen o)

No. ltems I Value (in mullion )
>~

Export | 61)

240

E T WA

iiiiiiiii

9) mmuﬁzfmiwlmmm&imﬁwﬁmﬁﬁéamﬂﬁql
Discuss

the positive economic analy

sis and the normative economic analysis.
https:f/www.rajasthanbuard.com

10) wm“t?mmﬁmﬂml

What is utility? Explain with the help of an example.

11) =m % $a aw 7% @1 mafas a=m
Draw the diagram of 1otal production curve of labour.
12) fea 3w sin dara 3 § 92 i,

Distinguish between average product and marginal product,

13) vE v & FA amie aw # mnfea =)

Draw the diagram of total revenue curve for a firm.

SS-10-Economicy

budget? Discuss,

ance ol payments table given below -

2]
i
[2) ¥

I

(2]

12}

12}

2] |

|

2]

(3 scanned with OKEN Scanner



.- W gq 1+1+1=3
1) U Sy ahm [ ]

1) QAT g

Analyse the following concepts -

1) Net Investment
1) Depreciation
1) Intermediate goods

15) arsammm =3 aﬁiﬁtﬁmmw@m%?ml
What are the plan and non-plan expenditure? Explain.

A /OR
TS =349 aﬂifjshﬂmmﬁamm%?mwal

What is meant by revenue expenditure and capital expenditure? Explain,

[1V2+1Y5=3]

6) ITI & gEAm wEA H TEte 6 vEEa | W St

(3]
Clanty the consumer equilibrium with the help of dia‘g_r;fm’_
Fgar/OR
uin & Ham i v TEfe i ggra | we S
Clarify the law of demand with the help of diagram.
7006 [ Turn Over
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10 |
17)ﬁqmﬁmﬁmm“ﬁ@'%m(ﬁ)ﬂmm%

| T%g ) Frag
X aggg|m%uﬁmmmm(n)ﬁm%| - (l?ﬁig’z:: |

The following table shows the total cost (T¢) of a competitive firm. G

of the good is Rs.10. Calculate the profit () at each level of output - Baiand
It T D AN o™ (1)
Qutput level Total cost (%) Profit (n) (3)
I3
R
N 27 oo

4

T ————

Fgar/OR

ﬁnmﬁﬁmﬂawﬁzﬁlq\ﬁmﬁﬁssl 3R SS, & ¢ §) wwm gfd wreht @ wheen
ey [6x2=3]

In the following table two supply schedules
Calculate the market supply schedule -
AT | w19 (5S) wIgR (SS,) | avmuw
Finn_-I_ Supply (SS)) Firm—ll S_upply (SS,) | Market Supply

S 7

of firms are given. SS, and SS,. l

- —
— —— =

— . 1_1 - s S
15 =
20

l
N =S
> 3 _

Qv -7
SECTION - D

Raures v
Essay type questions :

mﬁm%mﬁaﬁiﬁm mmﬁmﬁﬂ%ﬁmﬁmf&mwt (4]
Analyse the policy tools to control the money supply by reserve bank.
FYar/OR
W sreferaeen § feftes wigl it wifd @ s favewm swa Siftm)

Present your analysis on the progress of digital transactions in the Indian
economy.
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p) W WM R T 3o 4
What 1S meant by

11
AR T o
marke{ dem % ﬂi‘{ﬂﬁa Sl He™dT a Hﬂﬂl'sal[1+3=4]

CULVe With e help of g dianrmind? Explain the derivation of market demand
(- .

H=/OR
W% 3t it o ) oo - ) Yo @ m R

shift? Clarify shift in the demand curve and
urve, T

i 5% Bie 4t e 22w o

Why does e demand curye
Movement along the demand ¢

D) = aroft
; qmmammaﬁ!mmﬁmﬁ&q—(m’iﬁ)[ﬁx%ﬂ]
Calculate average cost and

(In Rupee) marginal cost by total cost in the following table-

_ Oﬁ‘h IR | swawmE | o \
r—l-l-([)i)L__If_t_al C‘E’f_t Average Cost | Marginal Cost

10 - -
18 T
25

——el

[ 30 | -
N B N
| JFA4ar/OR
A wmoft § Fe @ 3R aitaa aRerd @ H e S -(et §)
C ate the total cost and average variable cost in the following table
(In Rupee)
fafa | & aiadt o [ Tt T sfea uftadt @
Output | Total Variable Cost TEtal (Zost Average Varigble Cost_
T - 10
[ 10 1 — ]
2 | 18
— 3 | 24 |
4 28 - ]
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